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QUESTION 1

You create a Snapshot copy of a new volume.

Which activity increases the size of the new Snapshot copy?

A. deleting data that was written to the volume after the Snapshot copy was created
B. writing new data to the volume after the Snapshot copy was created

C. reading data that was written to the volume before the Snapshot copy was created
D. deleting data that was written to the volume before the Snapshot copy was created

Correct Answer: D

QUESTION 2

Which two statements about replicating FlexGroup volumes are true? (Choose two.)

A. You can increase the capacity of a FlexGroup volume that is being replicated.

B. You cannot perform a resync on a FlexGroup SnapMirror relationship after it has been broken.
C. The SnapMirror relationship type must be XDP.

D. The SnapMirror relationship type must be DP.

Correct Answer:. AB

QUESTION 3

Click the Exhibit button.

(missing the Exhibit)

Referring to the exhibit, what is a valid storage failover scenario?
A. Node 1 fails and Node 2 takes over Node 1\\'s storage.

B. Node 2 fails and Node 3 takes over Node 2\\'s storage.

C. Node 3 fails and Node 1 takes over Node 3\\'s storage.

D. Node 4 fails and Node 2 takes over Node 4\\'s storage.

Correct Answer: A

QUESTION 4
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You have a 4-node cluster and want to ensure that a new NAS LIF can fail over to any node. In this scenario, which two
actions are required to configure the LIF? (Choose two.)

A. Add ports from all nodes to the LIF\\'s broadcast domain.
B. Configure the failover policy tobroadcast-domain-wide.
C. Add ports from all nodes to the LIF\\'s home port list.

D. Configure the failover policy tosystem-defined.

Correct Answer: AD

QUESTION 5

What is the minimum number of disks required to create a RAID-DP data aggregate?
A 4

B.6

C.3

D.5

Correct Answer: D
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